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OARHHE 20|/ DEEEE
90,622, 0402%1.75% 1,586
405 XHAHEEH 240,000 815,000 575,000
01 AL SEFISH] 240,000 815,000 575,000
OAHsI|H e 240,000
0REHILHA 60,000,0002*2CH 120,000
0=2=&HE 10,000, 00024 1CH 10,000
OHi&2 X2t P 1.5
55,000,000 *2CH 110,000
SEXT JIBHEA(0lH, SOIHQ TR 2=) K| 33,000 40,000 A7,000
o 8,100
= 24,900
405 XHAHEEH 33,000 40,000 A7,000
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2A: SMERSU
3. SESA 243t
CHol: SIIHIAL XIS (Srol: mi2)
SA - BB BRI(E) - IRAY - BES ofleso e HIDE
= 420
206 XH=H| 8,800 8,800 0
= 4,400
< 1,320
= 3,080
01 =l 8,800 8,800 0
OsIAH e s =A e 7Y
8,800,000 8.800
= 4,400
< 1,320
= 3,080
SIHSHER FHAEH 30,100 29,000 1,100
= 12,040
< 3,612
= 14,448
402 BI2tA=01H 30,100 29,000 1,100
= 12,040
< 3,612
= 14,448
02 BIFXHEAIE 2 (01 TH) 30,100 29,000 1,100
OsJIHSSHER 25 K&
100,00024301CH 30,100
= 12,040
< 3,612
= 14,448
SIHEE s)IRE 2828 A 90,000 50,000 40,000
= 22,500
= 67,500
01 LeEN= 90,000 50,000 40,000
= 22,500
= 67,500
14 DEt2 = 90,000 50,000 40,000
OsJIH B85 XA 90,000,0002 90,000
= 22,500
= 67,500
e ST SUAIREA EF(AIF) 2R &2 55,200 0 55,200
401 AIZHIZL R0 55,200 0 55,200
01 AlZ2H| 55,200 0 55,200
Ogtd S SUAMEA SF 2 i
400,000 138 m’ 55,200
SE SA 243t 3,342,669 3,312,691 29,978
1202 SAtel 24 3,600 3,600 0
201 et=3| 1,200 1,200 0
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100,00024%123] 1,200
202 OfH] 2,400 2,400
IENEE] 2,400 2,400
O120X2 2ALE] 29
100,000 %201 122 2,400
120X ZALE] EAES XY 34,100 44,100 10,000
201 LB 8,500 18,500 10,000
01 Al22t2IH] 8,500 18,500 210,000
O120&=3 S AF Z2=ALRL HIZ
30,00024%1021%103] 3,000
O120K+2 S AF 500AI12F QISTH HIZ
500, 0002 *107H 5,000
O120KF2I SAFRE ZHAFTH JI&
100,0002%50! 500
206 M=t 15,400 15,400
01 HZHI 15,400 15,400
O120Kt2 ZAF THE 22 15,400
IIEHZEL2| B2 29
200,0002%113] 2,200
0JlAEHIR2| 22 2
100,00024%113] 1,100
00 - DIEZA Wz Y
100,00024%113] 1,100
0FD|aHI22l HE Y
100,000%113] 1,100
0242 HME M2 7Y
300,00024%113] 3,300
022, 224 e 7Y
100,00024%113] 1,100
OMEIDIRIYR| 2 Y
100,000 *4E+113] 4,400
0JIEt 27 £ W2 7Y
100,00024%113] 1,100
301 LBIEAS 10,200 10,200
11 #AAHIXIZ2 10,200 10,200
O120XF A BIIE D3| &4
15,00024%350! 525
O120X AR} =3 ZAIES &4
15,0002 %2501%113] 4,125
O120KF2 SALR 2HEHS| & A
15,00024*3501%23] 1,050
O120K+2I SALRF HEIX| A8
150,00024%309! 4,500
IIRE L Hors AX] - e 3,304,969 3,264,991 39,978
201 LB 653,969 575,991 77,978
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DIIZS, 2otS ALSAAT0AIAL S
ez 1,5004%2, 6504 Ax 122 47,700
IIRS, Bors Fakpe| L oifxe S
Q= 60,0002 *122 720
DIIZE, BOS MARRIAIAE QIHUYR
= 110,000 * 122 1,320
DIIZE, Bos 81 HFEAlERY2
336,600 2000 A 67,320
02XE otMZIAag
48,70024* 18504 9,010
0IIZ2E MRt ag
8,20021%1,9000 4 15,580
0EOIE oM ZICAag
19,90024*1,5007H A 29,850
OJIIRE L BotS 823112 X 2,469
OXt &= 1,6102%472| E4x122) 909
OXt&h==4&d| 130,000 * 1 CH* 122 1,560
206 M=t 322,000 339,000 A17,000
01 ZHI 322,000 339,000 A17,000
OJIIRE, 2os RXES I 7 322,000
0JI2E 2utst HEMOI| 2L
1,650, 00021%207H 33,000
0L20HS utst IHSHEI| 2
180,00024*300H 54,000
OIS 2tBtst AAMAEHD| 2
1,400, 00024%207H 28,000
0JI2E LS| ¢
420,00024*150H 63,000
0EOIS LEDRI o 90, 000=*1,000H 90,000
0Jl2E ¢ Bots EE P(WH)
13,00024%3, 0004 39,000
0JIEF RIXH ¢! 15,000,000 15,000
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01 AIZHI 2,329,000 2,350,000 A21,000
OJIRE, 2o |XL4 i
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At 100, 00024*4007H A* 13| 40,000
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At 100, 00021*2007H A*23] 40,000
0JI2E XIE =3H0IZ2 DHZA
2,000,000&*202 2 40,000
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